HTH Math & Science Project by Alfred Solis

Ring My Bell Challenge
Name __________________________________________
In order to participate in the Carnival, every team member must show competency.  Be prepared to answer questions.
PART 1:  FIND IMPULSE RATIO

Steps:

1)  Label the above figure with the following: F1, F2, r1, r2, & (
2)  Measure the following lengths of your actual lever arm

	r1 =
	r2 =


3)  Derive the ratio of the forces and impulses (Assume: (t1 = (t2)
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PART 2:  COMPARING THEORETICAL & ACTUAL HEIGHT
	Steps:

1) Label all the variables on the figure to the right.

2)  Using the triple-beam scale, find the mass (in kilograms) of the puck.
mpuck = 

 g = 

 kg
3) Calculate the KE after dropping a _________ kg bag of rice onto the lever arm
hbag = 

 m

KEbag = 

 J

4) Calculate momentum of the rice bag
Vbag =  

 m/s

(mv)bag = 

 kg•m/s
5)  Calculate the momentum of the puck after the lever arm applies a force for a given amount of time
(mv)puck = 

 kg•m/s
6)  Calculate the maximum Kinetic Energy of the puck
KEmax = 

 J
7)  Calculate the theoretical height of the puck
PEmax = 

 J
htheoretical = 

 m
8)  After getting permission from Alfred, actually get the rice bag and drop it from the predetermined height and measure how high the puck actually travels
hactual = 

 m
	
9)  Calculate the Efficiency
% Efficient = [1- {(htheoretical – hactual)/ htheoretical}] x 100 = 

 %
10) Why is the Pole-verizer so Inefficient?
· 
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